




























































































sin 24” 39’ 32” . tan 18’ 29‘ 30”=
sin 9’ 20’ 58” \

I
= (0.41721) (0.33443)

(0.16245),

= $85889

. ;C  = cot-’ (0.85889). .

=, 49" 20' 28"

c = 38" 59' 28", LLR::  C = 98" 40' 56"

\
4. a = 42” 15’ 2d,  A = .36”  20’ 2d,  B = 46” 30’ 40”

\

sin b = sin a-
sin A

sin B

sin 42” 15’ 20”  . sin 46” 30’ 40’*
sin 36” 20’ 20’

= (0.67244)(0.72544)
(0.59256) I

= 0.82323

tat+  =
sini(B+A)

sin i (B -- A)
tani(bLa)

,
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= (sin 41’  25’ 30”) (tan 6” 34’ 37”)

(sin 5’ 5’ 10”)

= (0.66164) (0.11529)
(0.08869)

=  0 .86008

1
. . -c,

2
=  tan-’ 0 .86008

=  4 0 ”  4 1 ’  41*

co+ =
sini(b,+a)tanf(B-A)

sin i (b,  -a)

= (sin 48” 49’ 57”) (tan 5” 5’ Id)

(sin 6” 34’ 37”)

= (0 .75279)  \0.08900)
(0.11454)

=  0 .58493

. $4. . = cot-’ (0.58493)

= 59” 40’ 30”

. c, =. . 119” 21’ 0”

fldn’  2 lq bz  = 124’ 35’ 26” Ml c2,  Cz

VII c*  6&luqnJulPrvosrPtr~~~~~~l

tan;,,  =
sini(B+A)tani(b,-a)

sini(B-A)

= (sin 41” 25’ 30”) (tan 41” 10’ 3”)

(sin 5” 5’ 10”)

= (0.66164) (0.87444)
(0.08869)

=  6 .5234
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1
. . -cz

2
=  tan-’ 6 .5234

7 81” 17’ 5”

. cz = 162” 34’ 10”

Ml c* bnuEpJluuQs6Pr65fJi  !.cl

cc+, =
sin$(b)i-a)tani(B-A)

sini(bl-a) 1

= ‘(sin 83” 25’ 23”) (tan 5’ 5’ 10”)

sin 41” 10’ 3”

= (0.99342) (0.08900)___..
(0.65826)

= 0.13431 !

. ;c2. . = cot-’ (0.13431)

/
= 82” 21’ 2”

5. a = 59” 28’ 27”, A = 52” 50’ 20”

ti = 66” 7’ 20”

+KUJ  fdu’d.1 b,  = 81” 15’ 30”
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c, = 110”  II’ 28”

bba’ c, = 119” 44’ 16”

nmx2 bz = 980 44’ 30”

cz  = 138” 45’ 12”

LLaz c, = 142” 24’ 46”

6. a = 63” 29’ 56”. b = 132” 14’ 23”, C = 61” 18’ 27”

FlmJ c = 88” 57’ 36”

A = 51” 44’ IO”

ka: B = 139” 29’ 34”

7. a = 98” 53’ 12”,  c = 64” 35’ 48”, A = 95” 23’ 24”

V-lmJ b = 99” 29’ 36”

C = 65’  32’ 18”

kat B = 96” 21’

8. b = 37” 47’ 12”.  c = 103” 1’ 24”, B = 24” 25’ 36”

VlOlJ  fiSdM’w’  1 a, = 730 58’

A, = 40” 26’ 24”

bb6i.z c, = 138” 53’ 12”

flStiiw’2  a, = 134” 32’ 36”

A, = 151” 14’ 48”

bbat CZ = 41’  6’ 48”

9. a = 80” 5’ 18”,  b = 82” 4’. A = 83” 34’ 12”

PlmJ ns&i  1 Cl = 52” 27’ 12”

B, = 87“ 34’ 30”

iba: c, = 53” 6’ 36”

nsdw”  2 C2 = 25” 12’

B, = 92’  25’ 30”

bbar c* = 25” 26’ 12”

162 MA 337(H) s



10. A = 117’ 54’ 24”, C = 45O  8’ 36”,,  a = 76”  37’ 30”

PMnl b = 410 4’ 36”

C = 510 17’ 54”

B = 36’  38’ 48”
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